PARTS INFORMATION FOR:
UNIVERSAL HEADLAMP BEAM SETTER

MODELS: HBSg7.HGV

Item Part No. Description
1 TC024010004 Wheel - HBS97
1 TCNRO010011 Wheel - HBS971
2 TC029010023 Base
3 TC020010042 Case, Column
4  TC020010091 Plate, Regulator Wheel
5  TC025010002 Column
6  TC025010004 Spring, Vertical Slide
7  TC024010002 Optical Box
8  TC025030011 Black Handle
9  TC025030014 Lens, 200mm

10  TC025030013 Lens Stand

1 TC027010056 Inner Panel

14  TC025020009 Spring

15  TC020010038 Spirit-Level

16 TC026010011 Spring

17 TC020020031 Luxmeter 0/240

18  TC020010152 Steel Cover

20  TC020020018 PCB with Photodiode
22 TC020010050 Plexiglass Cover

23 TC025010005 Vertical Sliding System
24 TC025010135 Spring Pusher

26  TCNAO0010009 Screw, M4 x 20

27  TC025010130 Brake, VSS

30 TC025020011 Mirror Visor

35  TCNA2010002 Screw, M8 x 50 - HBS97
35 TCNA2010016 Screw, M8 x 55 - HBS971
36  TCNA5010010 Screw, M6 x 16

37  TCNAO0010010 Screw, M5 x 45

38 TC020010047 Wheel Axle, 15 x 45mm
39  TC022040010 Pedal Brake

40 TC024010041 Pivot-Thread, Brake
42 TCNA0010009 Screw, M6 x 16

44  TCNB0010002 Nut, M10

45  TCNA0010002 Screw, M10 x 16

46  TC029010049 Plate, Regulator

47  TCNA6010005 Screw, M8 x 35

58  TCNCO0010005  Washer

60 TCNA4010025 Screw, M4 x 13

61 TCNB0010004 Nut, M3

64  TC025010068 Washer

65  TCND1010002 Bearing, 6005RS

66 TC022040014 Ferrule, Brake

68 TC025010122 Plate, Mirror Visor

69  TC025010121 Compass, Mirror Visor
70  TC025010123 Washer, PVC

72 TC025010119 Washer

73  TCNA1010034 Screw, M10 x 80

74  TCNAO0010025 Screw, M8 x 16

76  TCNAO0010009 Screw, M6 x 16

77  TCNA1010034 Screw, M4 x 16

81 TC020010037 Spring, Spirit Level

82  TCNBO0010005 Nut, M8

83  TCNA4010006 Screw, 3.9x9.5

84  TCNB1010006 Nut, M8

85  TCNA2010013 Screw, M8 x 20

86  TCNA2010011 Screw, M8 x 60

87  TCNB1010011 Nut, M8

Nov 1

AN

AN AN

NN

oG
TN

@?

88  TC025020059 Kit, Rail, Complete - HBS97

All Items are common to both models except where .
specified in the item description. Issue Date:  06/09/05
Version No: 1
SEAbEYRES Sole UK Distributor B 01284 757500 B, www.seatey.co.uk
Sealey Group, 3

Bury St. Edmunds, Suffolk. 01284 703534 sales@sealey.co.uk




